%1{%% zollp#R )
(n /c @S 2gpR=6 b33 SR)sLsmb

2
e ORLssE S 1 o b ~l;2
= 3
P f\—__ng Sa)‘ ([‘(050‘)»* -Q:%,Qi Q —

Q RogE g (x awra), (F Ap+a) YEHS

Crlatra-1)=| GG zae-nwataar (=1 (50X (23 2a)x+a% 22=0
miﬁézvm‘iﬁ&ﬁﬁb&’? KIS BBeBRAREL) o(+’[§=:2§t§3 B = a za
PR3

2 2 ;
0= B0+ (2-aS'= (@) § oy amp{= F3Y92"_ 2 oo

:@Mﬁiﬁ) 43 )f 3 +ﬂ‘§z~_4~ +3§ q,azf',?a _ ?8
EE | AT
4 2
O cpp oL 8% | 73 ;@+za(a+e): zalatza+1) _ 2a(@-17 F(: (-3)
v B @4 Y F (&3 (Fr 1 )° S S(a)= A

(2) SERTE) L3 TR BLLS Q& dkada b

Tlay (2@-15t23-2(2-0F (1)~ za(a-u 2(3%41)-23

(1
= 2Q-N(E N TE-DEF1)+223@E 1) -+ @-1] _ 2<a—\)(a+x)(a+3@ l+233+za—4\a3w(a)
(R E
= 20-DE) (- F33%33-1) - —2(-1)( (2% (at+)(3 -4a+l)
(% * R¥nt
é‘iﬂlﬂ_ﬂ Cdar(=0 net Qs 22N = 2243
3255t 5ar §
Pz p<a<| ot T’(a )=0 o't A=2-43
43233

942 ‘t 2:@ TE)ntEBE 12 42
a+( ’(3)+ ‘
Th) /ﬁ%& Fz fk3ale 2-43



